

Anx B – Work Completion Report

MEASUREMENT SHEET							
Company Name:	Manilal Modi Memorial		Approved by:		Sai kumar Reddy		
Project:	MCMET		Sign:				
Work Description :	Core cutting		Work start date:		25-12-2025		
Contractor:	Thirupathi Raj		Work end date:		05-01-2026		
Prepared By:	K.Praveen		Date :		30-12-2025		
S No.	Item Head	Item Description	A	B	C	D	E=AxBxCxD F G= Sum of F
			Length	Width	Height	No's	Quantity units Item Head Total
	MCMET						
1	Terrace	3" core cut in slab for 4th floor toilets	1.00	1.00	1.00	4.00	4.00 no's
2	N-E,S-E over head tanks	4" core cut in rcc wall for in,out and over flow	1.00	1.00	1.00	10.00	10.00 no's
3	N-E staircase fire shaft	5" core cut in wall for hydrant valve	1.00	1.00	1.00	5.00	5.00 no's
4	UG tank	3" core cut in rcc wall for cable installation and over flow	1.00	1.00	1.00	5.00	5.00 no's
5	STP tank	8" core cut in rcc wall for seweage out let	1.00	1.00	1.00	1.00	1.00 no's
6	S-E shaft	8" core cut in wall for rain water outlet	1.00	1.00	1.00	2.00	2.00 no's

ESTIMATE SHEET								Approved By	
Company Name:	Manilal Modi Memorial							Sai kumar	
Project:	MCMET								
Work Description:	Painting								
Prepared By	Praveen.K								
Bill Date:	30-12-2025								
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total	Remarks	
	MCMET								
1	Terrace	3" core cut in slab for 4th floor toilets	4.00		250	1000.00			
2	N-E,S-E over head tanks	4" core cut in rcc wall for in,out and over flow	10.00		325	3250.00			
3	N-E staircase fire shaft	5" core cut in wall for hydrant valve	5.00		300	1500.00			
4	UG tank	3" core cut in rcc wall for cable installation and over flow	5.00		300	1500.00			
5	STP tank	8" core cut in rcc wall for sewage out let	1.00		725	725.00			
6	S-E shaft	8" core cut in wall for rain water outlet	2.00		375.00	750.00			
							8,725.00		

Labour Charges
Thirupathi Raj
MUHARPALLY
Hyderabad

Date: 10-01-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Core cutting

Towards : Labour Charges

S.No.	Discription	Amount
1	Breif discription of work: Towards oht tanks core cutting work	3,490.00
	Total amount: 8,725.00	

Amount in words: Three thousand four hundrde ninty rupees only/-

Sign: _____

Allowance For Consumables
Thirupathi Raj
MUHARPALLY
Hyderabad

Date: 10-01-2026

In favor of : Manilal Modi Memorial

Project/Site: MCMET

Location: MUHARPALLY

Type of Work: Core cutting

Towards Allowance For Consumables

S.No.	Discription	Amount
1	Breif discription of work: Towards oht tanks core cutting work	1,745.00
	Total amount: 8,725.00	

Amount in Words: One ethousand seven hundrde fourty five rupees only/

Sign: _____

Allowance For Equipment
Thirupathi Raj
MUHARPALLY
Hyderabad

Date: 10-01-2026

In favor of : Manilal Modi Memorial
Project/Site: MCMET
Location: MUHARPALLY

Type of Work: Core cutting

Towards : Allowance For Equipment

S.No.	Discription	Amount
1	Breif discription of work: Towards oht tanks core cutting work	3,490.00
	Total amount: 8,725.00	

Amount in Word: Three thousand four hundrde ninety rupees only/-

Sign: _____